ACCENT CHAIR




ASSEMBLY INSTRUCTION

o

D

earit T,
\‘\,Q?..ﬂ-r- 5

=
Ko

B

PARTS IDENTIFICATION

CHAIR BACK

SEAT CUSHION

el T ALRILE
p‘}ﬁ. § sy

-

tA il‘
¥ w

-

18

o

1PC

1PC




ASSEMBLY INSTRUCTION

7 HARDWARE IDENTIFICATION
1 | ALLEN KEY M5mm o) 1PC
2 | BOLT@5/16"*3-1/4" - 4PCS
3 | BOLT@5/16"2-1/4" as® APCS
sk AN Lﬂ
4 | BOLT@5/16"1-3/4 e
5 | SPRING WASHER-BIG @15/16" 5 oee
6 | FLAT WASHER-BIG @5/16"22mm @ 10PCS
7 | ALLEN KEY Mdmm i, o
8 | BOLTD1/4"*1-3/4" 2PCS
9 | SPRING WASHER-BIG @91/4 9 e
10| WOOD CAP 14*7mm e op
GETD 2PC

WOOD DOW 10"30mm




ASSEMBLY INSTRUCTION




INSTRUCTION

N\

EMBI

ASS

SEEPS




N

UCTI

"

tmemm

i

mmj

MBLY NS

ASSE




